
Γ, X : φ ⊢ X : φ
(Ax)

Γ, X : φ1 ⊢M : φ2

Γ ⊢ (λX : φ1.M) : φ1 → φ2
(→I)

Γ ⊢M1 : φ→ ψ Γ ⊢M2 : φ

Γ ⊢M1M2 : ψ
(→E)

Γ ⊢M1 : φ1 Γ ⊢M2 : φ2

Γ ⊢ (M1,M2) : φ1 ∧ φ2
(∧I) Γ ⊢M : φ1 ∧ φ2 Γ, X1 : φ1, X2 : φ2 ⊢ N : ψ

Γ ⊢ (caseM of (X1, X2) ⇒ N) : ψ
(∧E)

Γ ⊢M : φ1

Γ ⊢ inlM : φ1 ∨ φ2
(∨I1)

Γ ⊢M : φ2

Γ ⊢ inrM : φ1 ∨ φ2
(∨I2)

Γ ⊢M : φ1 ∨ φ2 Γ, X1 : φ1 ⊢ N1 : ψ Γ, X2 : φ2 ⊢ N2 : ψ

Γ ⊢ (caseM of inlX1 ⇒ N1 | inrX2 ⇒ N2) : ψ
(∨E)

Γ ⊢M : ⊥
Γ ⊢ (caseψM) : ψ

(⊥E)

Γ ⊢M : φ x : A x /∈ FV(Γ)

Γ ⊢ (λx : A.M) : ∀x : A.φ
(∀I) Γ ⊢M : ∀x : A.φ t : A

Γ ⊢Mt : φ[t/x]
(∀E)

Γ ⊢M : φ[t/x] t : A x : A

Γ ⊢ [t,M ] : ∃x : A.φ
(∃I)

Γ ⊢M : ∃x : A.φ Γ, X : φ ⊢ N : ψ x /∈ FV(Γ, ψ)

Γ ⊢ (caseM of [x,X] ⇒ N) : ψ
(∃E)

Figure 1: The rules of intuitionistic multisorted first-order predicate logic
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